
Standalone Rear Roof Shelf Installation Instructions

Included Contents

1. Rear Roof Shelf x 1
2. Rear Back Panel x 1
3. Mounting Brackets x 2
4. M5X12 Button Head Bolt x 7
5. M5 Flat Washer x 7
6. M5 Nylock Nut x 7
7. M6X12 Button Head Bolt x 6
8. M6X20 Button Head Bolt x 4
9. M6 Flat Washer x 10
10. M6 Nylock Nut x 6
11. M6 Spring Washer x 2

Tools Required:

● 10mm & 8mm Socket
● 4mm & 3mm allen key
● Small Phillips head screwdriver
● Plastic clip removal tool or Flat Blade screwdriver

Bracket Installation Preparation:

1. Locate the plastic cap above the third window behind the C pillar. Remove this plastic cap to reveal
an M6 captive nut.

2. The second mount location is hidden under the roof lining. To locate the second hole, mount the
bracket using an M6X20 bolt in the hole under the plastic cap you just removed.

3. Run your hand along the lining towards the front of the car you should be able to feel the second
depression under the lining. Once this has been located, move the bracket into position and ensure
it is level. Using a screwdriver, poke a hole through the lining into the depression.

4. Repeat this process on the other side, then remove the brackets as these will need to be assembled
to the shelf before installation.

1



Shelf preparation:

1. Attach the Rear Back Panel to the shelf using the M5 nuts, flat washers and bolts (7).
2. Attach both mounting brackets to each side of the shelf using the M6X12, M6 Flat Washer & M6 Nylock

Nuts (6) (Leave bolts finger tight for adjustment during installation, once desired position is achieved
tighten up all 6 bolts).

3. The shelf is now ready for installation.

Shelf installation:

1. Lift shelf up to mount points located earlier, using the M6X20 with matched spring and flat washer
to secure the shelf to the mounting points (We recommend asking a mate to help hold the shelf in
place whilst you screw in the bolts).

2. Once the shelf is in the desired position tighten bolts securely.

DONE! Enjoy your new Rear Standalone Shelf.

2


